N PN

SILICON

H8550

TRANSISTOR

S8550

4 100mm i h
L |
A063AJ-00-X XX T
240+ 20pm . -
600% 600um > d E b
B  130x150pm E  140x130um .. 2
N, r
TO-92
B T=25
Teg—— -55~150
T—— 150
Pc—— 1W
Vego—— — -40V
Vceo—— — -25V
Vego—— — -6V
lc—— -1.5A
B T=25
ICBO — -0.1 b A | VCB=-35V, IE=0
1EBO — -0.1 U A | VEB=-6V, 1C=0
HFE 85 500 VCE=-1V, 1C=-100mA
40 VCE=-1V, 1C=-800mA
VBE ON — -1.0 v VCE=-1V, 1C=-10mA
VCE(sat — -0.5 v 1C=-800mA, 1B=-80mA
VBE(sat) — -1.2 V 1C=-800mA  1B=-80mA
BVCBO — 40 v IC=-100p A 1E=0
BVCEO — 25 v IC=-2mA  1B=0
BVEBO — 6 v IE=-100p A 1C=0
T 100 MHz | VCE=-10V, 1C=-50mA
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	IEBO
	发射极—基极截止电流
	-0.1
	μA
	VEB=-6V, IC=0

